=<3 200M

200-1 / 200-2 / 200-3 G2 (Yol A g gle)

) U
g 3 % % =
=N Epf 2| 22 A|g
(tolM st gi2) | 200M
=\ Egz2H WAz (DU |Amo PPN 02:18.55
(LtolM st gi2) | 200M
At =& =g 02:32.06
(Ltol st gi2) | 200M
AL Sall 2 | oy A2 | utx| = s&m 02:26.18
5 (LtolAM st gie) | 200M [©°F
At SEZE oy olznl | M | yyE| ZMAY 02:29.52
6 | (olmizt gtg) | 2oom | B
A o 2 = gy
7| (olms gie) | 200m
8
A} Eef=d ZEAI S 02:34.38
2| (oimz etz) | 200M
iRt o ol M= 02:35.48
3 (Lto|XM st 912) | 200M
= Eg2H 2152 ety ElotE
4 (Lto|XM st 912) | 200M
At =El =8 21017 Zoly| |uxjg|  Tojssc | 02:30.18
5 (Lto|XM st 912) | 200M
At Sa = 2A|= 2E2 | HEH| $Ding 02:30.94
6 (Lto|XM st 912) | 200M
R Eell=d A== oA | 0| =0l Eo= 02:34.57
/ (Lto|XM st 912) | 200M s
8
Lt X} sdEE | = Zizs | Zioid | s MSTC kS
2 (LtolM st aig) | 200M [—°
=Ny =2 E gy ol%%d | 5hatg  ZZtm | 2P dream 02:22.12
3 (LtolM st aig) [ 200M [ '
IRt = SAARR T 02:46.70
41 (omzratg) | 200M
=t Ak SR s aus| 322|229 Zote| siorasss | 02:37.75
S| oMzt gte) | 200w |HEE EEE ES
At SESE yixy uzxs 2up UsR 2uE way|  2eoy | 02:37.64
6 (Llo[Mstele) | 200M | ' | T °
7
8




201-1/201-2 A2} (Jol A g 1) =g <3 200M

T
¢l 5 5 A oS =
=
1
2 - i PTETT
(olast a2y | 200m B2 =HE [Z2UF AAMG 01-% [0|LE | H+FE553] | 02:41.98
3 Ax =8=1 0|23t o3| |71 &0l (U |RoA [orMB 557
(ojxzt gie) | o0om |OEH |BES BEE FEE Fos WHe SEIY | 02:34.83
o] 2} SETEE
4 B [
(LojAstei=) | 200M e
o At =Y s =l
S| wopzstorey | 200M |FEP| oz (G1HY S0 U0 SRS YEA+IAY | 02:30.40
6 o1 2t CEERN
(rojxsr o2y | aoom | AEH AT 019 LN ALY MY | BMAAYSY | 02:53.38
o At =Y s
4 (Lo|HstgiS) [ 200M EA| A | 03:08.81
8
1
2
3 i SRR w so) |2ie zizre 4 -
Wojst o) | 200m [E71F (HECN RS HAE S R Hots 03:01.87
4 o2} CEEEN _
(ojxst g2y | 200M |© |2 | F=[OH |O|2H | M2H HDIY | U2F 210|SSC 03:06.19
5 o1 2f S TECE) I N P
(o x5t 212y | 200M E2A | dolgl 2 AuyE] | MR Ees | G in B4 02:5556
o At Lozd _
6 (Lol A3t 212y | 200M O|Ltgd | Ol =2 | HAIH | HFGO|  HiRlY | HAd dream 02:34.58
O 2} SR
" | (woimst ez | 200m A= 02:43.95
8




